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130100 WA ' 30 2,916 97 97 97 BN 307
Y3002 =4 (HA%) 5 4,369 1,512 1,512 378 P 5kg
31100 M3 | 19 119 119 119 57 11l
31100 [13% ‘ 60| 2,106 540 540 486 B 4 —%
31200° LK . 5, 389 22 22 11 BH 243
31700 % 4 10| 594 594 594 594 B 17—
31700 % <Y 2| 216 216 216 216 | k5 1l
31800 |29 ALAK 5 2,295 92 92 92| B 255
31900 M - . 2] 4320 216 216 216 BN 2kg
34200 FJIC | KB 88 108 108 108 574 Tkg
34500 E— 1 697 162 162 162 | B 4kg
35220 X A SR 2 3,080 1,404 1,404 1,404 BN 2ke
353038 RSy TEXAL D 2| 734 432 432 432 B e
Y3033  ZZAHAL 100 27,000 270 270 270 B | 100kg
37200 L x 928 2] 216/ 108 108 - 108/ B %kg
Y3017 iRty 1 1,296 1,296  1,296] 1,296 B kg
Y3030 LA (%) 2| 2,376 1,188  1,188] 1,188/ 2kg
34600 L LY 575 L 1 54 108 108 108 | 51 kg
46108 XAUZONHE 11 19, 224/ 524 518 518 B 37552
21030 FJ+F l 550 28 28 28| B 20K
21032 F5++ (#) E 963 33 33 28| A 30
30100 72UVZ A L 10 1,080 108 108 108|104
130300 AB L 50 8,640 1,728] 1,728 1,728 Rl§ 55—
30300 A% /AN 18 1, 458 65 54 54| REA 25%%
31100 (93¢ M 390 6,793 324 248 248 FEIR By 26% — 2
31200 (LH3E - 8 415 32 11 1 BERE 0%
33810 HEE 8 2,160 1,080 1,080 1,080 )ik 2/ —=
33810 FHEE 8 1,512 43 43 2R 408y
Y5005 47k A 10 3,132 1,566 1,566 1,566 K%y 24— %
32600 #&4 5 583 43 22| 22| K4y 2548
31700 % -~ 100l 6,480 648 648 618 LRy (104 —%
31730 7' U — R —/L 200 6,210 324 162 162 ERE 294 —=
31800 1ZHMAE 23 9,558 97 76 76| HlH] 115%
131950 BRE M 24 7,722 972 972 18| R [8r—=
131900 AX M 10 4, 968 324 281 216 HEJEE 195 (500g)
32800 25 N 8 4,968 76 54 54 I 803
34300 7o 20 2,88  se4 864, 324 BEA 4% — 2
34300 72t 12 2,457| 76 76 38 HEA 40%
34300 At 2L 10 3,240, 1,620 1,620 1,620 fEA 24—
34330 RAT 5 1,404 1,404 1,404  1,404|fEA 17— 2
34400 k-~ | 1 1 36| 7,884 1,188 648 648 fEA 94— =
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34460 I=L F & ‘ 24| 10, 886, 97 86 86| fEILE 12005y 7
34460 I=LE L B R 1,512 594 594 324|EEE  [37—%
34100 #K 2L 55 8, 694 810 810 756 BEEE, 117 —X
34100 MK L 10 3,024 1,512 1,512]  1,512/fEA 24— 2
34200 K 30/ 6,804]  2,268] 2,268 2,268 B 37— 2
34200 [/ B 37 3,780, 1,080 1,080 540 FEVL R 4% v b
34500 E—<vi L 6 2, 268 38 38 38/Ks |60%E
36200 Fehw 2L 70 14,010, 2,160]  2,160|  1,404|dtiffiE |74/ —=R
36210 A—2 A (%) 2L 20| 4,320 2,160, 2,160  2,160|diEiE |2 —%
36600 7~ERE Lk 80 8,640  2,160| 2,160 2,160 dtiEE  |4r—=%
Y3027 Ly Nf-Fh¥ L 9 1,944 270 270 162 dbHEE 9% v b
33400 L& % 36 2,333 32 32 32| Ry 72{H
33420 ZY—rU—T7L A% L 3| 1,188 1,188 1,188 1, 188|t@ 1 —2
33600 /ST U 1 270 54 54 54|t 54%
38100 AELWil) B M 1 3, 672 92 92 92| B Ik 4073 7
31310 93¢ 10 1,620 32 32 32| f&[if) 50%%
31500 MR . 16 2,592 32 32 32| HlH 80%¢
37560 HHIE 1 1,728 324 216 216 K% 18y 7
36400 AN 2L 10 3,780 3,780 3,780 3,780 ## 1 —2
38400 DX 15 8,100, 2,700 2,700 2,700 £ 34— A
38521 S Lo UH 3] 3,402 113 113 13|t 304%
38604 T U ¥ 6 6,804 113 113 113 fa@ 60%%
42310 FLED AT 32| 10, 167| 216 162 140 R ¥F 634
43714 B SH L 30 4,212, 1,080 1,080 972 | #TE 447 — %
43810 BAIERE 6 4,925 205 140 130 1%L 32857
49100 S F 72 11,880 3,888 1,620 1,512]7 4 Uty 6 —x%
49300 ¥ 4 T A— 10 6,264 3,132 3,132 3,132 =a—— 24 —2%
. | UK
19300 ¥ 7 4 T A— B 10 1,296 756 756 540| =2 — U — 27— 2
, . , 52k
Y5009 MM TR L 15 4,050 270 270 270\ BEIR B |15ke
&t 1,927 298, 150, | [
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